Puzzle 11201 - Friday, 24 July, 2015 - Difficulty 10

131 1t 8 20 1 |
418131 |7(2F5|6]9
’3’2’111 = ’1’;’" liiilli} ‘1’5’"’1”1’5; ’’’’’’’’’’’’’’’
1417|5189 (6432
{é’fﬁ:‘ i ii:ii"’g’,iiii,ffffff, i % | 5’11:11
}63[2 9135|4187 ]1:
— T T
§7§§9§§6§}5 4 1328
i : : i jl’diii: % ; % f,iii:‘ }’7’1111
§5*‘1j181§2 63179 4:
;: — ‘ | i {éfﬁ: fff::;: ééfﬁ: fff::;: ‘:: — i
3|4 2|7 8|96 1|5
:1’9’::3”1’?;"’,:::,f:fffff‘ : ; 171767::”:::;71 ;
213|416, 11:8f9 |57
e e s e
85 |1[9 372146
| il IS R T
9f6j7r]a)2|5|11]8[3

Copyright (c) www.dailykillersudoku.com




